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МАШИНА (DYNAMO SLIVEN):
1.DC=36V; 1600rpm
2.M=0.3Nm
3.Km=0.158                                                                                          
4.Rmashine=3.24 Ohm

76
5

LM224S

A1:2
1413

12

LM224S

A1:4

C3

0.33

C
6

33
00

uF
X3

5V

2

1

X2

375-02

12
3

LM224S

A1:1
89

10

LM224S

A1:3

10K

R1

C
10

33
00

uF
X3

5V

1
C

O
O

L(
S

M
D

20
X

20
)

C
O

O
L2

100

R18

2

1
3

K
T9

73
AVT5

2

1
3

KT
97

3A

VT8

D

G

S

IRF4905

VT9

UREF

6 RT

2 IN1

8 C1

1 IN1

3 FB
4 DTC5 CT

7 GND 10E2

13OTC

15IN2

9E1

11C2

12Vcc

14Uref

16IN2

TL
49

4A
(S

)

DD1

10K

R37

ВНЕШНИЙ 
РЕЗИСТОР

1

2

375-02

X4

РАЗРЕШЕНИЕ

1

2

X3

375-02

МАШИНА (DYNAMO SLIVEN):
1.DC=30V; 3000rpm
2.M=0.1Nm
3.TACH=3V/1000rpm;                                                                                           
4.Rt=456 Ohm(25%C),
   Rt=100 Ohm(75%C);
5.Rmashine=3 Ohm
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